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12.1. G, K Gx K (G K

(91, k1) - (92, k2) = (9192, k1k2)

12.1. Gx K

12.2. (0.5 ) Z/3Z x Z.JAZ

([1]3, [0]4) <
([0]5, [1]4) <
([, [1]a) 12
12.3.  [:7 — (/37 x /A7)

n — ([ns, [n]s)

(1) f
2) f 127
(3) ZJ12Z  Z/3Z x ZJAZ

12.4. m,n Z]/mILXLInZ =

Z]mnZ

12.5. m,n
am+bn =1 a,b

12.6.
(1) f:Z —Z)3Z xZ/5Z X Z]TZ  f(n) = ([n]s, [ns], [n]7)
(2) f

ZJ105Z = Z/3Z x Z/5Z x L) TZ
12.7. f:R* - R~*
fla) = o

(1) f
(2) f

(3) R*/{£1} Z2R.o={r e R;r >0}
1



2 o) NO.12
12.8. f:RsoxR/Z — C*
f(rya) = r(cos(2mu) + v —1sin(27wu))

(

12.9. f : Gk X 61 — Gk—i-l
[flo,)(1,2,3,.. ., k,k+1,k+2,...,k+1)
=(0(1),0(2),0(3),...,0(k),k+7(1),k+7(2),....k+7())
f f

12.10. G G H K
G Hx K

(1) HN K = {e}.
(2)G HUK
G/H~K
12.11. m,n
a,b
am+bn =1

fZjmnZ = Z/mZ x Z/nZ  (f([x]mn) = ([2]m; []2))
a,b | (fY([8]m, [t]ln) a,b,s,t,m,n

12.12. G4, G,
Gy x Gy ( ) 4



